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p.38

e replace
Cage=65(t) = 0.02242 - 0.00134 (t-2007) - 0.0000405 (t-2007)? + 0.000000236 (t-2007)3,

with
Cage=s5(t) = 0.0224 - 0.0014 (t-2007) + 0.00004700 (t-2007)? - 0.00000040 (t-2007)3,

e replace
Cage=65(2012) = 0.01672

with
Cage=65(2012) = 0.01653
p.39
e replace
Ceoh=1930(t) = 0.01977 + 0.00124 (t-2007) - 0.0002144 (t-2007)? + 0.000006118 (t-
2007)3,

with
Ceoh=1030(t) = 0.0198 + 0.0013 (t-2007) - 0.00022075 (t-2007)? + 0.000006275 (t-2007)3

e replace
Ceoh=1930(2022) = 0.01070

with
Ccoh:1930(2022) =0.01081



